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QUESTION 1

You want to use a database of information about tissue samples to classify future tissue samples as either normal or
mutated. You are evaluating an unsupervised anomaly detection method for classifying the tissue samples. Which two
characteristic support this method? (Choose two.) 

A. There are very few occurrences of mutations relative to normal samples. 

B. There are roughly equal occurrences of both normal and mutated samples in the database. 

C. You expect future mutations to have different features from the mutated samples in the database. 

D. You expect future mutations to have similar features to the mutated samples in the database. 

E. You already have labels for which samples are mutated and which are normal in the database. 

Correct Answer: AD 

Unsupervised anomaly detection techniques detect anomalies in an unlabeled test data set under the assumption that
the majority of the instances in the data set are normal by looking for instances that seem to fit least to the remainder of
the data set. 

https://en.wikipedia.org/wiki/Anomaly_detection 

 

QUESTION 2

What Dataflow concept determines when a Window\\'s contents should be output based on certain criteria being met? 

A. Sessions 

B. OutputCriteria 

C. Windows 

D. Triggers 

Correct Answer: D 

Triggers control when the elements for a specific key and window are output. As elements arrive, they are put into one
or more windows by a Window transform and its associated WindowFn, and then passed to the associated Trigger to
determine if the Windows contents should be output. 

Reference: https://cloud.google.com/dataflow/java-
sdk/JavaDoc/com/google/cloud/dataflow/sdk/transforms/windowing/Trigger 

 

QUESTION 3

You are integrating one of your internal IT applications and Google BigQuery, so users can query BigQuery from the
application\\'s interface. You do not want individual users to authenticate to BigQuery and you do not want to give them
access to the dataset. You need to securely access BigQuery from your IT application. 
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What should you do? 

A. Create groups for your users and give those groups access to the dataset 

B. Integrate with a single sign-on (SSO) platform, and pass each user\\'s credentials along with the query request 

C. Create a service account and grant dataset access to that account. Use the service account\\'s private key to access
the dataset 

D. Create a dummy user and grant dataset access to that user. Store the username and password for that user in a file
on the files system, and use those credentials to access the BigQuery dataset 

Correct Answer: C 

 

 

QUESTION 4

Which of the following statements about Legacy SQL and Standard SQL is not true? 

A. Standard SQL is the preferred query language for BigQuery. 

B. If you write a query in Legacy SQL, it might generate an error if you try to run it with Standard SQL. 

C. One difference between the two query languages is how you specify fully-qualified table names (i.e. table names that
include their associated project name). 

D. You need to set a query language for each dataset and the default is Standard SQL. 

Correct Answer: D 

You do not set a query language for each dataset. It is set each time you run a query and the default query language is
Legacy SQL. 

Standard SQL has been the preferred query language since BigQuery 2.0 was released. 

In legacy SQL, to query a table with a project-qualified name, you use a colon, :, as a separator. In standard SQL, you
use a period, ., instead. 

Due to the differences in syntax between the two query languages (such as with project-qualified table names), if you
write a query in Legacy SQL, it might generate an error if you try to run it with Standard SQL. 

Reference: 

https://cloud.google.com/bigquery/docs/reference/standard-sql/migrating-from-legacy-sql 

 

QUESTION 5

Your company maintains a hybrid deployment with GCP, where analytics are performed on your anonymized customer
data. The data are imported to Cloud Storage from your data center through parallel uploads to a data transfer server
running on GCP. Management informs you that the daily transfers take too long and have asked you to fix the problem.
You want to maximize transfer speeds. Which action should you take? 
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A. Increase the CPU size on your server. 

B. Increase the size of the Google Persistent Disk on your server. 

C. Increase your network bandwidth from your datacenter to GCP. 

D. Increase your network bandwidth from Compute Engine to Cloud Storage. 

Correct Answer: C 
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